l pn % 3 aal) 2amta a gil)
?.m\: Al :@Ju: -
(Gx® — D(2x—3) — 4 +3x +5 (6x — 6)(dx* + 6x— 1) — (2x — 3)(6x — 4)

(2x + 2)(3x% +3x— 6) — (3x + 4)(5x — 4) (6x° = 5)(x +3) + 65 —2x +4

(6x° + 6)(x— 6) — 5% +3x— 6 (5x + 2)(4x — 2)(x + 3)

Ax+ Dx—3)x+1) 2x+ (2+3x)2x— 3)(x+4)

6x — (6 — 6x)(3x— 4)(x + 2) (x— 5)(3x2 +6x—6)— (x +3)4x—2)
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(3x2— 1)(2x—3) — 4@ +3x+5
6x° — 13x% +x+ 8

(2x+ 2)(3x% +3x— 6)— Bx + H)(5x — 4)
6x° — 3% — 14x + 4

(62 + 6)(x— 6) —5¢ +3x— 6
6 — 41x% + 9x — 42

Ax+ Dx—3)x+1)
4y’ — T — 14x— 3

6x — (6— 6x)3x— 4)(x + 2)
18x° — 6x° — S4x + 48

EEN NG BL

(6x — 6)(4x”> + 6x— 1) — (2x — 3)(6x — 4)
24x° — 16x— 6

(6x% — 5)(x + 3) + 6x° — 2x + 4
6x> + 24x% — Tx— 11

(5x+ 2)(4x — 2)(x + 3)
20x° + 58x% — 10x— 12

2+ (24 3x)(2x — 3)(x + 4)
6x° + 19x% — 24x — 24

(x— 5)(3x% + 6x— 6)— (x + 3)(4x— 2)
3% — 13x% — 46x + 36
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